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(1) 3x(x+5)

=3xXx+3xX5

=3x*’+15% —7 1 DOFIE2 ~

M1 WOHFEZ LRIV,

(1) x(x+4)
=xXx+xX4
=x?’+4x

Z. x’t+4x

(2) 2 x(3 x—4)
=2xX3x+2xX(—4)
=6x’—8x

X, 6x’—8x

(3) —x(4x—5)
=—xX4 x—xX(=5)
=—4 x*’+5%
K, —4 x*+5x

(4) 3a(a*—2a+1)
=3aXa’+t3aX(—2a)+3aXxXl
=3a’—6a’+3a

&, 3a’*—6a’t+3a

(5) %x(4x+6y)

I I
=—x X4 —x X6
ZX x+2x y

=2x*+3xy
K 2x*4+3xy

(6) 2 4 (6x°—3 %)

3
_2 2. 2 _
—3x><6x +3x><( 3 x)
=4 x*—2x* K, 4x°—2x°

(7) (3 x+2)X4y
=3xX4x+2X4x
=12x*+8x
K, 1 2x*4+8x

(8) (2x—5y)X(—2y)
=2xX(—=2y)—5yX(—2y)
=—4xy+10y*

A, —4xy+10y?

(9) (—4 x+1)X3 4y
=—4 xX3x+1X3x%
=—12x*+3x%
K —12x*+3

X

3
(10) (SX—IZ)XZX

=g XX x—12%X—
=8 x X x 5 X

=6x?’—9x A, 6x*—9«x
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(1) (a*+6a)+a
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M2 WoHEZ LRIV,
(1) (9x*+6x)+3x

_9xx  6x

3% 3x

=3x+2 K, 3x+4+2
(2) (16xy—4y)+4y

_16xy 4y

4y 4y

=4 x—1 XK, 4x—1

3
(3) (6 x2—12xy)+?x

2
=(6x’—12xy)X——

3 x
2 2
f— 2 — e —
6 x X3x 72xy><3x
=4 x—8y X 4x—8y
b
(4) «—3aLb+eSb)+(—7;)

=(—3a b+6b)><(—%)

3 3
=—3a bX(—?H-SbX(—T)

=9a—18
X, 9a—18




